G-LISTNo. | TH1072
TiINd—=F«20 O+ 0

TiN COATED* LONG SHANK

TIN-LT-POT

[ 14} §
| _THLGTH - ik ;‘,T;
L TiER
LF o
HSSE TiN
o
i :mm Unit:imm :‘lj |
E| WA | & 28 | RUR | ETR ot AN B e mm weie) SRV oM RN YR | AT | 5 (GUR| HTE |08 B s (1| (e
DP NO. Wlint | c | LF |THGTH| LU |DCON|NOF | ™= | stack| (g) | (Yen) LM IEE TPl Grade | WPUnit| @c | LF [THIGTH| LU |DCON|NOF |7 |siock | (g) | (Yen)
78810 |M 3 x0.5 100 11| 19| 4 =l 11| 4970 78858 M14 x2 STD | OH4 150| 30| 48|105 =] 108[13,500 1,
78813 |M 4 x0.7 oo| 13 215 | [H] 16| 4640 | 78862 |M14 x1.5 |STD|o0H3| [150] 30| 48[105] [ = | [T1i0[13s00 %
78816 (M 5 X0.8 |STD|0H2 100 16 | 24| 55 A 19| 4250 78865 | M16 X2 STD | OH4 150| 32| 52|125 =] 152(14,800 A <
78819 M6 x1 100 19] 2 6 £ 24| 3,850 78869 | M16 X1.5 | STD | OH3 150| 32| 52{125| | - | 15214800, A
78821 150 i) 40| 6570| | 78872 |M18 X2.5 150] 37] 55[14 | [ - [ 188[19,000
78823 100 =] 28| 4670 78875 |M18 X1.5 150| 37| 55|14 = 189(19,000 -
78825 B st STD | 0H3 - 150 b il £ . 40| 7,830 78878 | M20 X2.5 Ak 150| 37| 58|15 o = | & 219/22,800 %E
78832 |M10 X1.5 [150[ 24 41] 7 E 52| 8910 78881 | M20 X1.5 sTD | oHa 150| 37| 58|15 =l 221(22,800 I—F
78836 |M10 X1.25 150 24| 41] 7 - 53| 8910 78885 |M22 X2.5 200| 38| 63[17 =] 365/305000 E°
78843 |M12 X1.75/STD[0H4 |  [150] 29| 48] 85 [ —| 75/10900 | 78888 [M22 X1.5 200| 38 6317 = | [ 361[30500
78847 |M12 X1.5 |STD|OH3 150 29| 48 85 = 75/10,900 78891 |M24 X3 200) 45| 66(19 = | 453|36,200
78851 |[M12 x1.25/STD/0H4|  [150] 29 48/ 85 [ -] 76/10900) [ 78894 [M24 X1.5 200] 45[ 66[19 - 44936200, =
BEYELEVIRE - v VUEERE 2k, DRVSIEP.O99ZE CE L. M Please see p.999 for length of external center and shank square length £k and width DRVS. J,_T
1. Y54 [F2mshCEMEROY v THEEETT. (P.8178E) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread ;:T':
2. 9y JEEESRUEEZFRIITA2EOTRESDFEF A, standard. (see p.817)
3. tHEIRAl N—A+EP.975 S8R FEL. 2. TAP Limit does not guarantee thread limit for the internal thread after tapping.
3. Cutting fluid and Paste : Please refer to p.975.
£l
=y p wiE P P.959seETEV.
EURJU_R Parts & Supply series See p.959 for details

EBEY A AEERR I VITHBEBUIITVAA Y- BUET, o
0 ey g o - S
i WEBH9IOTBSBRELOR—IEBEIEICEES  »»»P.6 e
RUE
L] e N — AR 9541 s 7Nz | U= [ouEnag] 7ov N EteaTen -
o sxnﬁl"’mﬂ ash p— g | R R | B R gy | Wt sowmacnn) w0 | A% | B2 BT
ek Low Carbon| Medium | High Ay Hardened Sieel Starvess | TociSteel | Cant Cart Ductile | Copper | Brass Brass | Brorze |Ahaminm | Suminum| Magresium| Zinc Aloy | Taarium | Nickel | Themo | Thermo Bk e
Sweel | Caben | Carbon | Sweed Sl Stee| bon Cat Carsting Fodlled Aoy Aoy | Casting | Ally Ay | Setting | Plastic Vo= ST
Wid Steel| Gl | Sl von Carting | Casing Plasic 7
TS C |C02s%h| C 25~35(35~45145 ~50| 50 ~60
sereviion | ~025%~0u5 o5t~ M | "unc”[“hoc | Hac | he | NS | SO | SC | FC RO | Cu ) B | BC P ) AL ACNC) MC | I oy
TIN-LT-POT| O | O | O | O | O O | 6 I E B I e O e B Q| #v7
AB.C.D=AZ#7EEm A.B.C.D=5tandard stock item. O=EREETEER [=Stocked by specific distributors, Contact us for price & availability. |

B P JOWBEFPIZCE TFELL.  Seepl forexplanation of icons. 666



